
 
 

Example #1: 592 & 592-Bs with domestic nonresident withholding only 
Scenario: 

Partnership E made payments to two domestic nonresident partners during the 
calendar year.  Partnership E is now withholding on distributions to both domestic 
nonresident partners. 

Check the appropriate 
Type of Income box. 

Line 1: Enter the 
number of Forms 592-B 
attached for domestic 
nonresident partners 
who received a 
distribution which was 
withheld upon. 

Line 2: Enter the total amount 
subject to withholding that was 
distributed to domestic 
nonresident partners. 

Line 3: Enter the sum of the amounts withheld from 
distributions to domestic nonresident partners. 
 

Enter the dates and amounts of any prior withholding payments made for the calendar year. 

Line 4: Enter the total of all 
prior payments made for 
the calendar year. Line 5: Subtract the total prior 

payments (Line 4) from the 
total withholding due (Line 3) 
and enter the difference 
(Balance Due). 



 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Example #1:  Partner #1 
Domestic nonresident partner with a 55 percent interest 

Line 1: The total amount subject to withholding 
should be the amount of California source income 
distributed to Partner #1. 

Line 2: Enter the amount withheld from Partner #1. 
 
55,000.00 (Amount subject to withholding for this partner)
x         .07 (Withholding rate) 
 3,850.00 (Total CA tax withheld for this partner) 



 

 

Example #1:  Partner #2 
Domestic nonresident partner with a 45 percent interest 

Line 1: The total amount subject to withholding 
should be the amount of California source income 
distributed to Partner #2. 

Line 2: Enter the amount withheld from Partner #2. 
 
 45,000.00 (Amount subject to withholding for this partner)
x          .07 (Withholding rate) 
   3,150.00 (Total CA tax withheld for this partner) 
 


